@ Instruction Sheet

Rail Mounting

Introduction
These instructions describe the installation of the rail mounting LZY316 or LZY285.

One analyzer can be mounted to the short version (LZY316), one analyzer and one sc1000
controller with sun shield can be mounted to the long version (LZY285).

Note: For sizes and dimensions, see Figure 2 on page 3 and Figure 3 on page 4.

Items supplied with LZY316 and LZY285

Items supplied with rail mounting LZY316 (see Figure 1 on page 2):
e 1 short mounting rail
e 5 U profiles (LZY3565)
¢ 1 angle bracket (LZY357)
¢ 1 angle plate (LZY358)
e 1 setof screws (LZY220)

Items supplied with rail mounting LZY285 (see Figure 1 on page 2):
* 1 long mounting rail
e 5U profiles (LZY3565)
¢ 1 angle bracket (LZY357)
¢ 1 angle plate (LZY358)
e 1 setof screws (LZY220)

Items supplied with LZY220 (see Figure 1 on page 2):
e 6 screws M8x 120
e 3 screws M8 x 12
e 7 nuts M8
e 11 spring washers for M8
* 18 hex socket head screws M5 x 8

e 18 spring washers for M5




Rail Mounting

c /
Figure 1 Items supplied with the rail mounting?

1 Mounting rail for LZY285 (1x) 7 Screw M8 x 120 (6x), from LZY220 M8 X 120

(for mounting one analyzer and one sc1000)
2 Mounting rail for LZY316 (1x) 8 Screw M8 x 12 (3x), from LZY220

(for mounting one analyzer)
3 U profile LZY356 (5x) 9  Nuts M8 (7x), from LZY220
4 Angle bracket LZY357 (1x) 10 Spring washer for M8 (11x), from LZY220
5 Angle plate LZY358 (1x) 11 Hex socket head screw M5 x 8 (18x), from LZY220
6 Set of screws for rail mounting LZY220 (1x) 12 Spring washer for M5 (18x), from LZY220

1 We reserve the right to make changes without notice




Rail Mounting

—1 130 MM |=—o
[5.12 in]
’ ™
\ 2X M5
1.01m
[3.31 ft]
& R
AN
L3
ﬂ 3X M8
‘ ﬂ
16X 5.5 mm
[0.22 in]
2X 10 mm
2X @10 mm [0.39 in]

[0.39 in]

2X M5

SN

—=] 130 mm |=—o
[5.12 in]
° AL
\ 4X @ 6.5 mm
[0.26 in]
+ «e\
\ 2X M5
1.29 m
[4.23 ]
© &
A%
&
ﬂ 3X M8
‘ ﬂ
16X 5.5 mm
[0.22 in]
4X 5.5 X 30 mm
[0.22 X 1.18 in]
4X M5

Figure 2 LZY316 and LZY285 Sizes and Dimensions




Rail Mounting

144 m I |
[4.72 ft] I

~—— 523 mm ——*

[20.6 in]

170 mm
[6.7 in]

100 MM — | | —
[3.93 in]

~~—— 415 mm —

[15.75 in]

85-110 mm — -
[3.34 -4.33in]

175 mm
[6.9in]

Figure 3 LZY285 and LZY316 Mounting dimensions

1

Mounting rail for LZY285 (1x)
(for mounting one analyzer and one sc1000)

2

Mounting rail for LZY316 (1x)
(for mounting one analyzer)




Rail Mounting

Selecting the installation location

Important Note: When installing the analyzer, pay attention to all safety
instructions in the analyzer User Manual.

Note: During site selection, make sure the analyzer is mounted vertically.

When selecting an installation location, pay attention to:

* The weight of the analyzer (approximately 40 kg)

* The accessibility of the enclosure door and ease of access for loading the
analyzer with chemicals

e The maximum cable and tubing lengths

* The wind forces that may cause damage (wind load and vibration)

e The display module, make sure there is a clear view (when mounting the
s¢1000 to the long rail mounting (LZY285)).

Checking the railing specifications

The rail mounting is designed for installation on round (Figure 4) or rectangular
(Figure 5) railings. See Table 1 for specifications that must be met in order to rail

mount the analyzer.

Note: Check other railing profiles for suitability to ensure adequate load bearing capacity.

Table 1 Railing characteristics

Round railing profiles

Rectangular railing profiles

Ah
h1

s

h2 >D

|
=R

Figure 4 Section drawing of round railing profile

L

t
H

h1

T

A/%k

—| B |=—

Ah
h2
%

Figure 5 Section drawing of rectangular railing profile

D: 25-75 mm [1.00-2.95 in.]

B: 40-90 mm [1.57-3.54 in.];
H: 5-68 mm [0.20-2.67 in.]

a: <25 mm[1.00in.]

h1: 850-1200 mm [33.50-47.25 in.]

h2: 580-800 mm [22.80-31.50 in.]

Ah: 300620 mm [11.80-24.40 in.]




Rail Mounting

Installing the rail mounting (LZY316 and LZY285)

1.

10.

1.
12.

Loosely mount two U profiles to the angle plate with two M5 hex socket head
screws and spring washers (see Figure 6 on page 7).

Note: Only tighten the screws when the entire rail mounting is aligned and adjusted
for height.

Loosely mount the angle bracket to the mounting rail with four M5 hex socket
head screws and spring washers (see Figure 7 on page 7).

Note: Change the installation height by sliding the angle bracket along the slots.
Find a suitable installation location and place the angle bracket on the top rail.

Loosely screw a U profile to the angle bracket with the M8 x 120 screws,
spring washers and M8 nuts (see Figure 8 on page 8).

Loosely mount the angle plate to the mounting rail with the M5 hex socket
head screws. Loosely screw the angle plate to the bottom rail with two
U profiles (see Figure 9 on page 9).

Note: Adjust the installation height by sliding the angle plate in the slots or by rotating
the angle plate by 180° (see Figure 10 on page 10)

Note: To fit the angle plate to a vertical rail, rotate the angle plate 90° on the
mounting rail.

Note: To vertically align the mounting rail, slide the M5 hex socket head screws in the
slots on the angle plate.

Screw the top angle bracket (supplied with the analyzer) to the analyzer (see
Figure 11 on page 11 and the Installation section of the analyzer manual).

Attach the fastening bracket (supplied with the analyzer) to the mounting rail
using the three M8 x 12 screws and spring washers (see Figure 11 on page
11 and the Installation section of the analyzer manual).

Align all parts until the mounting rail is vertical and then tighten all screws.

Slide the analyzer to the fastening bracket and screw the enclosure to
the fastening bracket (refer to the Installation section of the analyzer manual).

Screw the top angle bracket (supplied with the analyzer) on the analyzer to
the mounting rail (see Figure 11 on page 11).

Feed the cables and tubing through the mounting rail.

Continue as described in the analyzer manual.




Rail Mounting

Figure 6 Installating the U profile on the angle plate

1

U profile LZY356 (2x)

3

Hex socket head screw M5 x 8 (4x), from LZY220

2  Spring washer for M5 (4x), from LZY220 4 Angle plate LZY358 (1x)
0%e
o
@/
v &
L
Figure 7 Installing the angle bracket on the mounting rail

1 Mounting rail for LZY285 or LZY316 (LZY316 shown) 3 Spring washer for M5 (4x), from LZY220
2 Hex socket head screw M5 x 8 (4x), from LZY220




Rail Mounting

Figure 8 Installing the angle bracket on the top rail

1

Mounting rail for LZY285 or LZY316 (LZY316 shown)

4 U profile LZY356

2

Nuts M8 (2x), from LZY220

3

Spring washer for M8 (2x), from LZY220

5 Screw M8 x 120 (2x), from LZY220




Rail Mounting

Figure 9 Installating the angle bracket on the mounting rail

1 Mounting rail for LZY285 or LZY316 (LZY316 shown) 5 Nuts M8 (4x), from LZY220

2  Spring washer for M5 (4x), from LZY220 6  Spring washer for M8 (4x), from LZY220
3  Hex socket head screw M5 x 8 (4x), from LZY220 7 U profile LZY356 (2x)

4  Angle plate LZY358, pre-installed 8 Screw M8 x 120 (4x), from LZY220




Rail Mounting

Figure 10 Installating the mounting rail rotated by 180°

1 Angle plate LZY358, pre-installed

10



Rail Mounting

Figure 11 Installating the analyzer on the mounting rail

1 Hex socket head screw M5 x 8 (2x), from LZY220 4 Fastening bracket (supplied with the analyzer)
2 Spring washer for M5 (2x), from LZY220 5 Spring washer for M8 (3x), from LZY220
3 Angle bracket (supplied with the analyzer) 6 Screw M8 x 12 (3x), from LZY220

11



Rail Mounting

Installing the sc1000 ( LZY285 only)

The sun shield must be used with the controller in order to install a sc1000 on the long
mounting rail (LZY285). Refer to the instructions supplied with the sun shield for more
information.

1. Insert the M6 x 110 screws (supplied with the sun shield) through the sun shield and the
mounting rail.

2. Tighten the nuts supplied with the sun shield with the washers.

Install the sc1000 into the sun shield.

Replacement parts and accessories

Description Quantity Catalog Number
Angle bracket 1 LZY357
Angle plate 1 LZY358
U profile 1 LZY356
Set of screws rail mounting 1 LZY220

FORTECHNICAL ASSISTANCE, PRICE INFORMATION AND ORDERING: HACH COMPANY

® In the U.S.A. - Call toll-free 800-227-4224 WORLD HEADQUARTERS
Outside the U.S.A. - Contact the HACH office or distributor serving you. Telephone: (970) 669-3050
On the Worldwide Web — www.hach.com; E-mail — techhelp@hach.com FAX: (970) 669-2932

© Hach Company, 2006. All rights reserved. Printed in Germany. eac/kt Edition 1, February 2006




	Items supplied with rail mounting LZY316 (see Figure 1 on page 2):
	Items supplied with rail mounting LZY285 (see Figure 1 on page 2):
	Items supplied with LZY220 (see Figure 1 on page 2):
	Figure 1 Items supplied with the rail mounting
	Figure 2 LZY316 and LZY285 Sizes and Dimensions
	Figure 3 LZY285 and LZY316 Mounting dimensions
	Table 1 Railing characteristics
	Figure 4 Section drawing of round railing profile
	Figure 5 Section drawing of rectangular railing profile
	Figure 6 Installating the U profile on the angle plate
	Figure 7 Installing the angle bracket on the mounting rail
	Figure 8 Installing the angle bracket on the top rail
	Figure 9 Installating the angle bracket on the mounting rail
	Figure 10 Installating the mounting rail rotated by 180˚
	Figure 11 Installating the analyzer on the mounting rail



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


